Mathematik 2. Klasse
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Eingesetzt in (G%):
—15b—31-(=5)—45-5=-10 |TU
—156— 70 = —10 | +70
—15b =60 |: =15
b=—-4
Eingesetzt in (G%):
a—9-(—4)—15-(-5)—22-5=—4 |TU
at+=—4 |—
a=-5
Eingesetzt in (Go):
(=5)+4-(-4)+3-(-5)+d+6-5=—-4 [TU
d—6=—-4 |+ 6
d=2
Losung: a=—-5,b=—4,¢c=-5,d=2,e=5
1)
—3a —3b —c +d —2e =3 (Go)
—5a —4b —c +d —e = -2 (Gh)
4a —2b +3c +2d —e =2 (G2)
da +4b —5¢ +5d +e =-2 (Gs)
5a +2c +3d +e =-3 (G4)
Variable e eliminieren:
(Go) — 2(Gy) : 7a +5b +c —d =7 (Gy)
(G1) — (Ga) : —9a —2b —4c —d =—4 (GY)
(G2) + (G3) : 8a +2b —2c +7d =0 (G%)
(G3) — (Gy) : —a +4b —Te +2d =1 (G%)
Variable d eliminieren
(Gy) — (GY) - 16a +7b +5¢ =11 (GP)
2(GY) + (G%) - —19a —15¢ = -7 (G7)
(GS) +7(Gy) - 57a +37b +5c¢ =49 (GH)
Variable c eliminieren:
(Gy) — (GY) : —41a —30b = —-38 (Gy)
(GY) +3(GP) - 29a +21b =26 (G
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